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[P.T.O.]

Note : Attempt all five questions. One question from each unit

is compulsory. All questions carry equal marks.

lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u

djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA
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Unit - I / bdkbZ - I

1. Explain the main rules of  -operations. [15]

flXek ds iz;ksx ds izeq[k fu;eksa dk o.kZu dhft,A

OR / vFkok

If mean of the following distribution is 28, find the missing

frequency of class interval 30-40 :

  

Profit Per Shop 
(Rs.) 0-10 10-20 20-30 30-40 40-50 50-60

No. of Shops 12 18 27 - 17 6

fuEu ckjackjrk forj.k esa ;fn lekUrj ek/; 28 gks rks oxZ

vUrjky 30-40 dh ckjackjrk Kkr dhft, %

izfr nqdku ykHk
¼#-½ 0-10 10-20 20-30 30-40 40-50 50-60

nqdkuksa dh la[;k 12 18 27 - 17 6

Unit - II / bdkbZ - II

2. Find the 1Q  and 3Q  from following data : [15]

Class interval 0-10 10-20 20-30 30-40 40-50

Frequency 3 8 20 12 17


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fuEu vkadM+ksa ls izFke ,oa rr̀h; prqFkZd Kkr dhft, %

oxZ vUrjky 0-10 10-20 20-30 30-40 40-50

ckjEckjrk 3 8 20 12 17

OR / vFkok

Compute the mean deviation from median and mode

from following data :

Class interval 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90
Frequency 3 8 15 20 25 10 9 6 4

fuEu vkadM+ksa ls ekf/;dk ,oa cgqyd }kjk ek/; fopyu Kkr

dhft, %

oxZ vUrjky 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90

ckjEckjrk 3 8 15 20 25 10 9 6 4

Unit - III / bdkbZ - III

3. What is meant by correlation ? What are types of

correlation ? [15]

lg&laca/k ls D;k vk'k; gS \ ;g fdrus izdkj dk gksrk gS \

OR / vFkok
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Calculate Regression coefficient from the following data

and there after frame the two Regression Equation by

short-cut method :

X 130 132 134 134 136 138 142 146

Y 134 136 128 136 144 140 138 140

y?kq jhfr }kjk fuEu vkadM+ksa ls izrhxeu xq.kkadksa dh x.kuk djds

nks izrhxeu lehdj.kksa dh jpuk dhft, %

X 130 132 134 134 136 138 142 146

Y 134 136 128 136 144 140 138 140

Unit - IV / bdkbZ - IV

4. The following table gives the average wholesale prices

of three groups of commodities for the years 2014 to

2018. Compute chain base index number chained to

2014. [15]

Group Year 2014 Year 2015 Year 2016 Year 2017 Year 2018

I 2 3 5 7 8
II 8 10 12 14 10
III 4 5 7 9 18

fuEu lkj.kh esa o"kZ 2014 ls o"kZ 2018 rd rhu oxZ dh oLrqvksa

ds vkSlr Fkksd ewY; fn;s x;s gSaA o"kZ 2014 dks vk/kkj ekudj
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Jà[kyk vk/kkj funsZ'kkad cukb, %

lewg o"kZ 2014 o"kZ 2015 o"kZ 2016 o"kZ 2017 o"kZ 2018

izFke 2 3 5 7 8

f}rh; 8 10 12 14 10

r`rh; 4 5 7 9 18

OR / vFkok

From the following data, compute seasonal indices :

Year

I II III IV
2014 72 68 60 70
2015 76 70 82 74
2016 74 66 84 80
2017 76 74 84 78
2018 78 74 86 82

Quarters

fuEu lead ls lkef;d funsZ'kkad dh x.kuk dhft, %

o"kZ

I II III IV
2014 72 68 60 70
2015 76 70 82 74
2016 74 66 84 80
2017 76 74 84 78
2018 78 74 86 82

frekgh
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Unit - V / bdkbZ - V

5. What is business forecasting ? Discuss factors affecting

the sales forecast of the company. [15]

O;kolkf;d iwokZuqeku D;k gS \ ,d daiuh ds foØ; iwokZuqeku

dks izHkkfor djus okys ?kVdksa dk o.kZu dhft,A

OR / vFkok

(a) Find out the probability of getting a total of either 7

or 11 in a single throw with two dice.

nks iklksa ds Qsadus ij 7 ;k 11 dk ;ksx vkus dh

izkf;drk Kkr dhft,A

(b) Find out the probability of getting all the heads in

four tosses of a coin.

,d flDds dks pkj ckj mNkyus ij pkjksa ckj fpÙk

vkus dh izkf;drk Kkr dhft,A

----x----


